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A, B and C are points on the circumference of a circle, centre O.
AOB is a diameter of the circle.

Prove that angle ACB = 90°
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www. 1stclassmaths.com

© 1stclassmaths

u . r@ @1stclassmaths


http://www.1stclassmaths.com/

u , r@ @1stclassmaths

A, B and C are points on the circumference of a circle, centre O

Prove that angle AOC = 2 x angle ABC

OC=0A=08 (all radii)

Lk angle 0AB = ¢ Lok omge OCB =y
Pngle OLA = x Angle ©@c =Y
Bose av@esw\ an (s08cthes br\owwl»e AFL 25U ual,

fngle CoB = 130 - 15 Prgle ROB = 180-2
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A, B, C and D are points on the circumference of a circle, centre O.

Prove that angle ABC + angle CDA = 180°

Lek ongle XBC=x  and Hngle CDA=y
Minor OLV\@\P/ AOC= 22 amd W) of angle ML= T

0s O%\& o The Ceukre (¢ fwice the ang le at Ehe
Circum{erence
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' (Total for Question 3 is 4 marks)
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A, B, C and D are points on the circumference of a circle, centre O.

Prove that angle ABC = angle ACD

| ok omﬂ\e AOD = x

Ang\e ARD = % %mﬁ\e ot the coudre, 1S

An\c]\& ACD = 3% )i e angle ok the
Qir QULV\/\%UQ,M&

A!\@‘\Q ABD: hngle AD= 3
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A, B and C are points on the circumference of a circle, centre O.
BT is the tangent to the circle at B.

Prove that angle CAB = angle CBT

et O\V\@\a CRT =
frgle 08 = 90~ Lotangent meeks a
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(Total for Question 5 is 4 marks)
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A, B and C are points on the circumference of a circle, centre O.
The lines OB and AC intersect at the point P.

Angle APO = angle OPC = 90°

Prove that AP = PC

OA=0C (both radii)
/rm'avxg\e& OaP onmd OCP both have <ide OP

Angle AP0 = omgle OPC = q0°

Therefere brang'es ORP omd CCP are
Qowgrma\/\h . ‘o RHG
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Ok = OV o
OP = 0P (ommon gte
SO the rwAMANING side & are Q%uak and, AiP= I
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